
2-Digit Minus 1-Digit Subtraction (H)
Name: Date: Score:

Calculate each difference.

39 − 3 =

95 − 7 =

74 − 4 =

81 − 5 =

87 − 6 =

20 − 6 =

47 − 4 =

72 − 2 =

21 − 4 =

92 − 5 =

12 − 3 =

49 − 1 =

55 − 2 =

20 − 5 =

43 − 5 =

89 − 8 =

64 − 1 =

48 − 9 =

34 − 1 =

39 − 8 =

26 − 8 =

67 − 2 =

31 − 5 =

69 − 8 =

15 − 4 =
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2-Digit Minus 1-Digit Subtraction (H) Answers
Name: Date: Score:

Calculate each difference.

39 − 3 = 36

95 − 7 = 88

74 − 4 = 70

81 − 5 = 76

87 − 6 = 81

20 − 6 = 14

47 − 4 = 43

72 − 2 = 70

21 − 4 = 17

92 − 5 = 87

12 − 3 = 9

49 − 1 = 48

55 − 2 = 53

20 − 5 = 15

43 − 5 = 38

89 − 8 = 81

64 − 1 = 63

48 − 9 = 39

34 − 1 = 33

39 − 8 = 31

26 − 8 = 18

67 − 2 = 65

31 − 5 = 26

69 − 8 = 61

15 − 4 = 11
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